
Williams College Lecture 3 Brent Heeringa

REPL

The python interpreter, when run in interpreter mode, yields a REPL.

Numbers

Here is some python code involving integers, real numbers, and complex numbers and their operations.

1 >>> x = i n t ( 4 5 )
2 >>> y = 9
3 >>> x / y
4 5 . 0
5 >>> x / / y
6 5
7 >>> z = f l o a t ( 9 )
8 >>> x / z
9 5 . 0

10 >>> z ∗ x
11 405 .0
12 >>> y ∗ x
13 405
14 >>> u = 9 . 0
15 >>> x / u
16 5 . 0
17 >>> y∗∗2
18 81
19 >>> y % 3
20 0
21 >>> y % 2
22 1
23 >>> y % 5
24 4
25 >>> a = complex ( 1 , 0 )
26 >>> b = complex ( 0 , 1 )
27 >>> a+b
28 (1+1 j )
29 >>> a∗b
30 1 j
31 >>> 1 j ∗∗2
32 (−1+0 j )
33 >>> 1 j ∗∗2 + 1 . 0
34 0 j
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Strings

1 >>> x = ” B r e n t ’ s s i s t e r ’ s husband ’ s b r o t h e r−in−law i s a g r e a t guy . ”
2 >>> x
3 ” B r e n t ’ s s i s t e r ’ s husband ’ s b r o t h e r−in−law i s a g r e a t guy . ”
4 >>> y = ’ B r e n t says , ”Good t h i n g my b r o t h e r−in−law i s an on ly c h i l d . ” ’
5 >>> y
6 ’ B r e n t says , ”Good t h i n g my b r o t h e r−in−law i s an on ly c h i l d . ” ’
7 >>> z = x + ” ” + y
8 >>> z
9 ’ B r e n t\ ’ s s i s t e r \ ’ s husband\ ’ s b r o t h e r−in−law i s a g r e a t guy . B r e n t says , ”Good t h i n g my b r o t h e r−in−law i s an on ly c h i l d . ” ’

10 >>> p r i n t ( x )
11 B r e n t ’ s s i s t e r ’ s husband ’ s b r o t h e r−in−law i s a g r e a t guy .
12 >>> p r i n t ( y )
13 B r e n t says , ”Good t h i n g my b r o t h e r−in−law i s an on ly c h i l d . ”
14 >>> p r i n t ( z )
15 B r e n t ’ s s i s t e r ’ s husband ’ s b r o t h e r−in−law i s a g r e a t guy . B r e n t says , ”Good t h i n g my b r o t h e r−in−law i s an on ly c h i l d . ”
16 >>> a = ” a n e w l i n e\n c h a r a c t e r ”
17 >>> p r i n t ( a )
18 a n e w l i n e
19 c h a r a c t e r
20 >>> a = r ’ a n e w l i n e\n c h a r a c t e r ’
21 >>> a
22 ’ a n e w l i n e\\n c h a r a c t e r ’
23 >>> p r i n t ( a )
24 a n e w l i n e\n c h a r a c t e r

Consider the following interaction on the Python interpreter. What is x?

>>> print(x)
She said, "Brent’s favorite character is \n."
He said, "I know."

Python

Let’s write a program called sum.py that takes two arguments from the command line and prints out their sum.

1 import s y s
2
3 x = s y s . a rgv [ 1 ]
4 y = s y s . a rgv [ 2 ]
5
6 p r i n t ( ” The sum of ” + x + ” and ” + y + ” i s ” + ( x+y ) )

First some explanation. The module sys gives us access to a variable called argv, which is a vector of strings
that appear on the command line. sys.argv[0] is the name of the script. sys.argv[1] is the first argument,
sys.argv[2] is the second argument, and so on. Let’s run this script in script mode.

1 $ python3 sum . py 5 6
2 The sum of 5 and 6 i s 56

Um, that’s not right. What’s wrong? The arguments are strings of characters, not numbers.

1 import s y s
2
3 x = i n t ( s y s . a rgv [ 1 ] )
4 y = i n t ( s y s . a rgv [ 2 ] )
5
6 p r i n t ( ” The sum of ” + s t r ( x ) + ” and ” + s t r ( y ) + ” i s ” + s t r ( x+y ) )
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